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= A 160,238 260,571 158,881 304,149 -0.9 16.7
<M M> 31,360 64,782 28,153 60,223 -10.2 -7.0
A= 12,384 18,961 11,855 17,594 -4.3 -7.2
HAS 6,862 14,931 6,417 13,845 -6.5 -7.3
X 2 6,712 10,243 5,597 10,068 -16.6 -1.7
AN 2,816 8,598 2,818 7,980 0.1 -7.2
AIME 514 6,988 287 6,858 -44.2 -1.9
AMEIHALS 1,631 3,278 1,085 3,082 -0.3 -0.1
=131/ 439 1,783 62 732 -85.9 -58.9
<7} &> 112,012 136,005 116,485 183,683 4.0 35.1
= 5 4,217 6,610 5,051 7,837 19.8 18.6
AAE 470 2,437 783 3,433 66.5 40.9
NiyNI=] 197 975 503 2,634 155.7 170.2
HsE 3,264 3,958 1,943 2,193 -40.5 -44.6
==Y = 5,955 1919 7,255 2,324 0.2 0.2
H = 112 338 174 640 55.6 89.5
<= M> 16,866 59,784 14,242 60,242 -15.6 08
o = 11,342 24,002 8,077 27,144 -28.8 131
rApAE= 3,109 28,322 2,777 23,335 -10.7 -17.6
o] = 115 3,161 158 4,056 379 28.3
AN == 68 498 89 834 30.9 67.7
7| E} 2,233 3,801 3,141 4,873 40.6 28.2
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